Faculty of Sociology, Management and Law
Paper I - Part 1 Little Joey's Lost Childhood
One day last summer Joey was arrested yet again for yet another burglary. He was then eleven years old. Soon afterwards, he became famous when, in October last year, he was locked away in a secure unit outside Leeds where he was three years younger than any other inmate, so young that his incarceration required the personal authority of the Home Secretary. Soon his case was being used as ammunition in campaigning to lock up more children.
Joey grew up with his father, a Southern Irish labourer who has not worked regularly for years; and his mother, Maureen also Irish and barely literate, who was only eighteen when she married Gerry, fifteen years her senior. The neighbours say Joey was a nice kid. They remember him skiving off school, too, and thieving, but they don't remember it well. Almost everybody's kids skive off school, and a lot of them go thieving. Gerry says Joey first broke the law stealing some crisps for dinner when he was four. In Gerry's family there has often been trouble with the law: a succession of brothers and uncles behind bars.
By the time he was 10, thieving was the only game Joey knew. He had 35 arrests behind him and the social workers decided he was to be locked up. They had tried taking him into care but he had simply walked out of the homes where they put him. So, in December 1990, he was sent to the secure unit at East Moor outside Leeds.
He liked it there. It is not like a prison, it is more like a school with extra keys. Tucked away there he was a child again. He played with lego. He practised joined-up writing. He woke up feeling ill in the night and cried on the principal's shoulder.
Joey is due to be released from the secure unit in February. Everyone who has dealt with him is sure that he will go straight back to his old ways. They say they have given up on him. They have two options: lock him up or let him go.
Joey is not the only child like this. Every English city has them. Joey just happens to be the famous one. He's bright and he's brave and the psychiatrists agree he is not disturbed.
If you throw a child into the sea it will drown. If you throw it into an English ghetto, it will grow up like Joey.
Task I. Comprehension: answer these multiple-choice questions
1.
How did the Home Secretary and the police respond to the rise in juvenile crime?
  a)  They wanted to see more young criminals put in prison
b) They believed that these should be a return to corporal punishment
c) They thought that the courts had too mush power
d) They thought that the police force should be strengthened
2.
What can the neighbours recall about Joey?
a) He smoked cigarettes
b) He was a bully
c)
He started stealing when he was four
  d)
He played truant from school
3.
Why was it decided that Joey should go to a secure unit?
  a)  He refused to give up thieving
b) He kept running away from the law
c) He behaved better in a secure unit
d) He was too old for the children
4.
What does the writer think is the main cause of Joey's behaviour?
a) He is a victim of his own circumstances
b) He is unable to sort himself out
 с)   He has been forces to behave in anti-social way    d)  He has been badly treated by the police
5.
Joey became famous because
a) He had committed so many burglaries
b) He was always being arrested
  c)    He was the youngest inmate in (he secure unit d)    d)  He swore at the press photographers
Task II: True or false sentences
1.
Joey has never broken the law.
2.
He has never played with Lego.
3.
Joey grew up without parents.
4.
Joey's father was a rich businessman.
5.
The only game Joey knew was thieving.
Task III: Match the words with the similar meaning
1. hard-working          a) convenient
2. labour-saving           b) interminable
3. good-looking          c) durable
4. never-ending               d) attractive
5. mouth-watering        e) appetizing
Paper I - Part 2
Task I. Make the right choice:
1.
Jim is away on holiday. He
to Spain.
A - is gone    B - has gone    С - has been    D - goes
2.
Everything is going well. We
   any problems so far.
A - didn't have B - don't have    С - haven't had  D - are not having
3
tomorrow, so we can go out somewhere.
A - I'm not working    В -I don't work    С - I won't work      D - 1 won't be working
4.
That bag looks heavy
you with it.
A - I'm helping    В - I help  C - I'll help  D - I have helped
5.
Why did you stay at a hotel when you went to New York? You
with Barbara.
A - can stay   В - could stay    С - could have stayed D - had to stay
6.
I've lost one of my gloves. I
it somewhere.
A - must drop   В - must have dropped     С - must be dropping   D - must have been dropping
7.
I'm not tired enough to go to bed yet. I wouldn't sleep if I
to bed now.
A - go     В - went     С - had gone    D - would go
8.
If I were you, I
that coat. It's much too expensive.
A - won't buy    В - don't buy    С - am not going to buy    D - wouldn't buy
9.
You can't stop me
what I want.
А - doing    В - do  С - to do    D - that I do
10.   I must go now. I promised
late.
A - not being    В - not to be    С - to not be D - I wouldn't be
Task II. Open the brackets:
1. He ... (to go) there half an hour ago.
2. I never (to see) anything  like mat
3. She just (to finish) washing up.

4. My friend (to talk) to professor Ivanov, when I (to see) him.   
5. When the students (to hear) the bell, they (to get up) and (to leave).
6. I he two men (to discuss) something, when we (to interrupt) them.
7. The girl (to fall) and (to hurt) herself' while she (ride) her bicycle.      
8. As long as the children (not find out) about the trip to Disneyland, they (have) a wonderful
surprise

9.1 (hand in) my resignation tomorrow unless, the manager (apologize) for her rudeness.
10. If I (know) you were coming, I (prepare) for your visit.
Task III. Translate from English into Russian:
1. It's very difficult to understand Scottish people if you're not used to their accent.
2. When I was younger I was used to walking long distances, but now I'm out of practice.
3. Our classes begin at 8. It's much too early for someone as lazy as me.
4. I've been offered a new job and must give a final answer within 3 days.
5. My granny has always lived in the country. She's old now and will have to come up to town.
Paper I - Part 3 Make the right choice:
1.
St Paul's Cathedral was built by...
a) King James I        b) Sir Christopher Wren   c)William the Conqueror    d) King Edward the Confessor
2.
Speaker's Corner is in...
a) Regent Park   b) Hyde Park   c) St James's Park   d) Kensington Gardens
3.
The United Kingdom has the.... as its Head of State.
a)    Prime Minister   b) Home Secretary     c) Queen       d) President 4    The symbol of Scotland is.... a) Shamrock     b) Rose   c) Daffodil   d) Thistle 5.   The patron saint of England is... a) St Andrew   b) St David   c) St George  d) St Patrick
